HI0 HW Y: (235 2.8.1, 3.2.5)

p—<_ B

WTS: L +6 =T, B+ ¢=T. v

Given qundn‘la-km? { (inscribed) ABCD,
construct OB, OD.

@ Thwoem— centrat o.nb'Lc is Miu;‘-mz‘. i}\sw:bed an;u i
=> A’ =24 and &’z 26. | |

See R+ BT AT |

Subsﬁ-\-w\-'wué, 2 * 9.6‘{ 2T |

A +6 = T as desived.

(construct ﬁ’é_c' and foilow same |oxic 2 Show.
"B+ ¢=1T)'. . . ; -3 :




WTS AABE ~ ACFO.

8 | 0 => £z gEc = 2DCE. ABl| EC =%ABE = £ BEC .
Calternate interior anoxu.'S) ]

A RBE isosceles = LABE = 2 2 AEB
DABE = ABcp (ssS) => LAEB & /BvoC
ODABE ~ ACFD (AA).

WTS Fe = X=1 by Showina HEFD isosceleS.
DABE = NDEC (5SS) =7 LPEC T LABE

catd LFDC O, tlun LCFD =T - 29

Han L EFD = T—(T-26) = 28

Sece L AED= 38 and ZAED 2 L EDC

LEPC =ZEPF+6 =2 LEPFE =26 a4 b i

SD LEFD 2 L EDF => NEFD isoscus =2 ED = EF => EF=1

—

FC= Ec- EF = X-1
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XT=%X=1=0 gs Jdesived.




éivcn:a,_,a‘m;f and apoirl‘,'pmon;,.

. At 2 be rc'presan'h:da.s yeax +c
At P= (Xo, Yo)
Let ML, M represented as Y= ax+c’ (c?# ¢)
P= (%o, Yo) M on M-
St we hoave o= r¥o >

WNew- assumt (Lor contradichion) A /\4) —H’LVDM%V\P 4
Ut Hat M) represetnted as Y= ax+ ¢’ witw cV#Fe
(i.e-;, M) (S JistHnet &vom M, but Paurcoo(x—(-h) l.,

and —Hmrou-«x\,x ).
we have o = aXe+ i

But - Yo = aXo+ < and Yo = AXo t C
AXo+ ¢? = AXo + 2l =) e = C” s Con.‘hradC\CHdh—
=7 M =M, [ the paratid 1o i'{’h*"’“‘z{\"- % P

IS unique




